
Math 110 Common Exam #2 
March 9, 2022 

Time: 1 hour and 25 minutes 

Instructions: Show all work for full credit. 
No outside materials or calculators allowed. 

Extra Space: Use the backs of each sheet 
for extra space. Clearly label when doing so. 
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NJIT Academic Integrity Code. " 
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1. Find the reference angle for the following: (3 pts each) 

a. 215° 

b. -200° 

C. 
437r 

18 

'LIS-E- Q 3 

G' :::- G- ta-0 

➔ ,_ I <; - I ',-0 - ( 3 5 a 1 

-WO E O 'l 

~•-=- l~-e 

-;. l 80 - ( - '2.0G) ~ 382) ,, 

[LO~ 
E: QI 

r- I c> ::. e 

2. In a right triangle ABC (where C is the right angle), find csc A if a = 5 and b = 2.../6 
(6 pts) 
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3. Find the exact value of the following or write "undefined" if no value exists: (3 pts each 
for a - c, 6 pts each for d - f) 
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4. Graph at least 1 period the following; be sure to label at least 2 identifying points: (6 pts 
each) 

a. y = 1 + 3 cos ( 30 + ;) -) 3 c~ [ 3( e + 't ) J +-/ 
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5. Given the graph below, find an equation in either sine or cosine. (5 pts) 
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6. If csc 0 = 2,find sec G: - 0) 5 pts 
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7. Evaluate the following: (5 pts each} 

b. arccos (cot;) 

8. A merry-go-round makes 8 revolutions per minute. (4 pts each} 

a. What is the angular speed of the merry-go-round? 
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b. What is the linear speed of a horse that is 12 feet from the center? 
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9. Verify the identities: (6 pts each) 

-) 

a. tan2x _ 2 
sin2x - tan X + 1 

s,vi. t )c J_ -- • 
COJ l. )( 

s,vi1..,x-

-"::> __L 
(d:)?.. )C 

-) ~c. z. )c 
::- .6r1 1. )<~( 

b. cos(0 + 90°) = -sin0 
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